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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
‘ there is no high velocity flow effect.
X Transect: Drillhole 18
14 1 | |
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Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is non-zero and positive.
X Transect: Drillhole 17

[ 0 D(P2) —Poly. (D(P2)) ==Poly. (D(P2)) — Linear (D(P2)) = Linear (D(P2)) |
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Log-Log plot of differential pressures squared vs. flowrate--used to identif.y the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 18
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect: Drillhole 18
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 19
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 19
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect: Drillhole 19
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 20
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 20
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect: Drillhole 20
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Relationship between steady-state differential pressures squared and flowrate:

% If relationship is linear, with the ordinate intercept nearly zero,
> there is no high velocity flow effect.
" X Transect: Drillhole 21
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 21
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 21
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5 Relationship between steady-state differential pressures squared and flowrate:
: If relationship is linear, with the ordinate intercept nearly zero,
| there is no high velocity flow effect.

X Transect: Drillhole 22
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1.550

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 22
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 22
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 23
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: y
‘ High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 23
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 24
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 24

1.600
1.500 { ———
1.400 - | REEE & RS Tk 1 —-—~-E¢ —
1.300 | \o’fk \\03
> AP
%
1.200 o (\/\P :
XY
. l0g1o(A(P?)) =(1.094910g16(Q) - 1.909
R*=0.911
1.000 -
O
0-900 T T T T 1) T T T T T
2.65 2.70 2.75 2.80 2.85 2.90 2.95 3.00 3.05 3.10 3.15 3.20
log1o(Q)
[ O log(D(P2)) ====Linear (Iog(D(P2)))’
N R N N G W o Ny o vy W ="y v~ |
s l ' | ‘ \ 1
_ _ Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 24
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 25
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 25
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 25
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 26
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 26
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 26
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 27

35
S APH=00224Q

li | | R*=0.9029

e

.o | A(P?) =-4E-06Q° + 0.0272Q | vV = |

R? = 0.9281 ‘ |

o S E— A(P?) = -2E-05Q° + 0.0618Q - 15.765
1 R? = 0.9768
104
. A(P?) = 0.0208Q + 1.8219
R* = 0.9097
0 - . . - . T T
0 200 400 600 800 1000 1200 1400 1600
Q, cc/min

| O D(P2) ==Poly. (D(P2)) = Poly. (D(P2)) — Linear (D(P2)) = Linear (D(P2)) |

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 27
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 27
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 28
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 28
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 28
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 29
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 29

1.33

1.31

log1o(A(P?)) = 0.595l0g,4(Q) - 0.5688 | |

1.29

1.27 A

| | | ‘ /

R? = 0.9994 | -~

r | ~

1.25

1.23

log1o(A(P?))

1.21

20/ vef 30 \WNY

|
l
2.90 2.95 3.00 3.05 3.10 3.15 3.20
log;0(Q)

O log(D(P2)) =—| inear (log(D(P2)))

orne. datiuo— .

Rep(a,u,mlﬂ‘f c&\ar)(‘ QLDI 05/15/05 Prioe chasT dd nost Skow

« -
i ‘ | | | |

161




R0/ €€/ 3Q " WNY

T’o]ie/g@

1.95E-02

185E-02 F— 1

1.75

1.65

A(P?)IQ, psia’/(cc/min)

1.45E-02 +——+

1.55E-02 -

Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 29
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 30
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 30
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between

steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.

X Transect: Drillhole 31
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 31
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.

X Transect : Drillhole 31
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